Top Ten Topics _MACCESS MATHS

@OU\F numbers have a median of 7, a mean\
Of 8 and a range of 8. What could they be?
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BOT HAVE TIE SAME AHOURT.

HOW (AUCH DOES FRED EVE LAWY

@lade an area represented by the expression D
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[ AB is a straight line. Work out the size of angle x \
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( The amount of white beads to black\
beads on a necklace are in the ratio 7:21.
What is the percentage of white beads?
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/~ & drink is mixed in the ratio
water : apple juice : pear juice = 3:7:4
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What fraction is apple juice?
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N '
ﬁ/ri‘re the number of left handed boys to rigm
handed boys as a ratio in its simplest form.

Boys Girls

Left] 9 5

Right
.

4 Expand:
a) (2x + 2)(x - 2)
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Factorise:
b) x2 + 10x + 21
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ﬁE and CBD are straight |ines. ProvA
that one angle in ABC is not acute.

Work out the value of x
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